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QUESTION 1

Consider the scenario where a database administrator is required to restore a database backup for a DB2 pureScale
environment. Which of the following statements is correct?

A. The RESTORE DATABASE command will need to be executed on each DB2 member within the cluster to restore
just the database. A separate command will be required to restore the metadata for each member.

B. The RESTORE DATABASE command will need to be executed on the shared storage to restore the database. The
metadata cannot be retrieved until the shared storage is restarted.

C. The RESTORE DATABASE command will need to be executed on each DB2 caching facility within the cluster to
restore just the database. All node metadata is not recoverable since it is not stored within database backups.

D. The RESTORE DATABASE command will need to be executed on only one of the members within the cluster. This
operation will restore both the database and metadata for all members.

Correct Answer: D

QUESTION 2

Consider the scenario of a DB2 pureScale environment with two DB2 members, and assume there is an active
connection to "member 3". Due to some maintenance emergency, "'member 3" needs to be stopped. Which one of the
following commands will stop "member 3"?

A. db2stop force member 3

B. db2stop immediate member 3

C. db2stop node 3 all members

D. db2stop member 3

Correct Answer: A

QUESTION 3
Which one of the following options is CORRECT about Temporal Tables?

A. System-period temporal tables are used to keep historical versions of records in a table. They use a history table to
transparently store updated and deleted data rows.

B. Application-period temporal tables are used to keep historical versions of records in a table. They use a history table
to transparently store updated and deleted data rows.

C. System-period temporal tables combine the historical tracking of an Application-period temporal table with the time-
specific data storage capabilities of a bitemporal table. They are used to keep user-based period information as well as
system-based historical information.

D. Application-period temporal tables combine the historical tracking of a system-period temporal table with the time-
specific data storage capabilities of a bitemporal table. They are used to keep user-based period information as well as
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system-based historical information.

Correct Answer: A

QUESTION 4

DB2\\'s High Availability and Disaster Recovery (HADR) feature provides a high availability solution for both partial and
complete site failures. Given the sentences below, select the CORRECT statement about HADR.

A. HADR protects against data loss by saving data changes from a source database into a local recovery log file.
B. HADR protects against data loss by replicating data changes from a backup database file to a standby database.

C. HADR protects against data loss by replicating data changes from a source database, called the primary, to a target
database, called the standby.

D. HADR feature is only available for DB2 Advanced Enterprise Edition.

Correct Answer: C

QUESTION 5
Which one of the following statements is TRUE about DB2 Workload Management (WLM)?

A. DB2 Workload Management requires several application changes in order to make the application aware of the WLM
feature.

B. DB2 Workload Management guarantees the availability of data by replicating it to a stand-by server.

C. DB2 Workload Management can be used to schedule maintenance tasks such as BACKUPs, REORGs, or
RUSTATS.

D. DB2 Workload Management allows you to assign resources to different workloads, which leads to a stable and
predictable execution environment.

Correct Answer: D
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